@9 Y ” & Multipliser desimaler med 10 100 000 000

StudentName: _ ExamDate: _ ExamScore:
8,95 x 100 = 3,217 % 10 =
5,648 x 1000 = 2,108 x 100 =
7,798 x 10 = 2,439 x 1000 =
2,272 % 100 = 2,87 x 1000 =
9,734 % 10 = 4,29 x 10 =
5,079 x 1000 = 4,475 x 10 =
9,558 x 100 = 8,777 x 100 =
7,158 x 100 = 5,102 x 100 =
10,298 x 10 = 5,6 x 1000 =
4,795 x 10 = 5,017 x 100 =
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@9 -y 0 g] Multipliser desimaler med 10 100 000 000

StudentName: ExamDate: __ ExamScore: ____
8,95 x 100 = 895 3,217 x 10 =32.17
5,648 x 1000 = 5648 2,108 x 100 = 210.8
7,798 x 10 = 77.98 2,439 x 1000 = 2439
2,272 x 100 = 227.2 2,87 x 1000 = 2870
9,734 x 10 = 97.34 4,29 x 10 =429
5,079 x 1000 = 5079 4,475 x 10 = 44.75
9,558 x 100 = 955.8 8,777 x 100 = 877.7
7,158 x 100 = 715.8 5,102 x 100 = 510.2
10,298 x 10 = 102.98 5,6 x 1000 = 5600
4,795 x 10 = 47.95 5,017 x 100 = 501.7
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